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What is corporate finance?
-

0 Every decision that a business makes has financial implications, and any
decision which affects the finances of a business is a corporate finance

decision.

o Defined broadly, everything that a business does fits under the rubric of
corporate finance.
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First Principles

The hurdle rate The return
should reflect should relfect

the riskiness of the magnitude The

the investment and the timing of optimal

and the mix of the cashflows as mix of debt

debt and equity welll as all side and equity

used to fund it. effects. maximizes
firm value

H

l

The Investment Decision
Invest in assets that earn a
return greater than the
minimum acceptable hurdle

rate

The Financing Decision
Find the right kind of debt

for your firm and the right
mix of debt and equity to
fund your operations

Corporate Finance: The Big Picture

How much

How you
cash you

choose to
can return return cash to
depends the owners will
upon current depend
& potential whether they
investment
opportunities

The Dividend Decision
If you cannot find investments
that make your minimum
acceptable rate, return the cash
to owners of your business

v

Maximize the value of the business (firm)




The Classical Objective Function
-1

STOCKHOLDERS
Hire & fire Maxiplize
managers stockholder
- Board wealth
- Annual Meeting
Lend Money v No Social Costs
BONDHOLDERS < > Managers < > SOCIETY
Protect 4 Costs can be
bondholder traced to firm
Interests
Reveal Markets are

information efficient and
honestly and| assess effect on
on time value

v

FINANCIAL MARKETS



What can go wrong?
N

STOCKHOLDERS

A

Managers put
their interests
above stockholders

Have little control
over managers

v

Significant Social Costs

Lend Money
BONDHOLDERS < > Managers < > SOCIETY
Bondholders can N
get ripped off Some costs cannot be
traced to firm
Delay bad
news or Markets make
provide mistakes and
misleading can over react
information
FINANCIAL MARKETS



Who' s on Board? Sasol’s board of

directors in 2013
. "]

Director _____| Other information

David E. Constable CEO & Executive Director (2011)

Christine Ramon CFO & Executive Director (2006)

Nolitha Fakude Executive Director (2005)

Hixonia Nyasulu Chair of Nomination committee (2006)
Colin Beggs Chair of Audit Committee (2009)

Henk Dijkgraaf Chair of Remuneration Committee (2006)
Mandla Gantsho Member of Audit Committee (2003)
Imogen Mkhize Member of Risk & Safety Committee (2005)
Moses Mkhize Member of Nomination Committee (2011)
JJ Nkeje Member of Audit Committee (2009)

Peter Robertson Member of Nomination Committee (2012)
Jurgen Schrempp Member of Nomination Committee (2008)

Stephen Westwell Member of Audit Committee (2012) 6



A Market Based Solution
I

STOCKHOLDERS
1. More activist Managers of poorly
investors run ﬁrms are put
2. Hostile takeovers | ©On notice.
Protect themselves v Corporate Good Citizen Constraints
BONDHOLDERS < > Managers < > SOCIETY
1. Covenants A 1. More laws
EE ne s 2. Investor/Customer Backlash
Firms are
punished Investors and
for misleading analysts become
markets more skeptical
FINANCIAL MARKETS



Splintering of Stockholders

Sasol’ s top stockholders in 2003
-
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What is Risk?

o Risk, in traditional terms, is viewed as a ‘negative’ .
Webster’ s dictionary, for instance, defines risk as “exposing
to danger or hazard”. The Chinese symbols for risk,
reproduced below, give a much better description of risk

o The first symbol is the symbol for “danger”, while the second
is the symbol for “opportunity”, making risk a mix of danger
and opportunity. You cannot have one, without the other.
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Measuring risk to a supremely diversified

investor (The CAPM)
-

Step 1: Defining Risk
The risk'in an investment can be measured by the variance in actual returns around an
expected return

Riskless Investment Low Risk Investment High Risk Investment
E(R) E(R) E(R)

Step 2: Differentiating between Rewarded and Unrewarded Risk

Risk that is specific to investment (Firm Specific) Risk that affects all investments (Market Risk)
Can be diversified away in a diversified portfolio Cannot be diversified away since most assets
1. each investment is a small proportion of portfolio are affected by it.

2. risk averages out across investments in portfolio
The marginal investor is assumed to hold a “diversified” portfolio. Thus, only market risk will be rewarded and
priced.

Step 3: Measuring Market Risk

1. If you assume that there are (a) no transactions costs and (b) that no one has the capacity to pick under and over valued
stocks, the logical limit of diversification is that you hold a portfolio of every traded asset in the market, held in proportion to
its market value.
2. If everyone holds this market portfolio, the risk of any asset will be the risk added to this portfolio, which can be measured
statistically as the covariance of the asset with the market portfolio.
3. Dividing the covariance of every asset by the variance of the overall market yields a standardized measure (around one)
of this added risk, called the beta.

Expected Return = Risk free rate + Beta of the investment (Expected risk premium for investing in the market

portfolio)

11



Inputs required to use the CAPM
-1

Expected Return on a Risky Investment

Risk free Rate Beta Equity Risk Premium
Rate of return on a + Relative measure of X Premium investors demand over
long term, default risk added to a and above the risk free rate for
free bond. diversified portfolio. investing in equities as a class.

12



What is the riskfree rate?

When we use the T.Bond rate as a riskfree rate in US dollars, what are we

assuming about the default risk in the US Treasury? Is that reasonable? What if
it 1s not?

Risk free Rates by Currency: The South African government had 10-year

July 2013 bonds outstanding, with a yield to maturity
of about 7.64% on July 1, 2013. At the time,
the South African government had a local
currency sovereign rating of Baal. The
typical default spread for A3 rated country
bonds in July 2013 was 1.70%. The riskfree
rate in South African Rand is

a. Theyield to maturity on the 10-year
bond (7.64%)

b. Theyield to maturity on the 10-year
bond + Default spread (9.34%)

«.  Theyield to maturity on the 10-year
bond — Default spread (5.94%)



What is the equity risk premium?
e

In 2012, the actual cash
returned to stockholders was
72.25. Using the average total
yield for the last decade yields
69.46

Analysts expect earnings to grow 7.67% in 2013, 7.28% in 2014,
scaling down to 1.76% in 2017, resulting in a compounded annual
growth rate of 5.27% over the next 5 years. We will assume that
dividends & buybacks will tgrow 5.27% a year for the next 5 years.

Arithmetic Average Geometric Average
Stocks - T. Bills | Stocks - T. Bonds | Stocks - T. Bills | Stocks - T. Bonds . .

1928-2012 7.65% 5.88% 5.74% 4.20% -— HIStO,.‘IcaI

2.20% 2.33% premium
1962-2012 5.93% 3.91% 4.60% 2.93%

2.38% 2.66%
2002-2012 7.06% 3.08% 5.38% 1.71%

5.82% 8.11%

After year 5, we will assume that
earnings on the index will grow at
1.76%, the same rate as the entire
economy (= riskfree rate).

73.12 76.97 81.03 85.30 89.80 Data Sources:
| | | | | Dividends and Buybacks
73.12 7697 8103 8530 89.80 89.80(1.0176 | last year. S&P
Jamuary 19013 1426.19= 1212, 7097 | 815, 85,00 | 89.80 | 9. a. )5 Expected growth rate:
yi (+r) (A+r) A+r)y dA+r)" (A+ry (r-0176)1+r) S&P, Media reports,
S&P 500 is at 1426.19 Factset. Thomson-
Adjusted Dividends & Buybacks Expected Return on Stocks (1/1/13) =7.54% Reut eré
for base year = 69.46 T.Bond rate on 1/1/13 =1.76%

Aswath Damodaran

Equity Risk Premium =7.54% - 1.76% =5.78%
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Country Risk: Look at a country s bond rating

and default spreads as a start
I

o Ratings agencies assign ratings to countries that reflect their assessment
of the default risk of these countries. These ratings reflect the political
and economic stability of these countries and thus provide a useful
measure of country risk. In July 2013, the local currency rating, from
Moody' s, for South Africa was Baal. There are three ways in which this
can be converted into a default spread:

o If the country has US S or Euro denominated bonds, you can compare the interest
rate on the bond to the US treasury bond rate (if US S) or the German Bund rate (if

it is Euro).

o If the country a CDS spread, you can use the spread as a measure of sovereign risk.
South Africa had a CDS spread of 2.91%.

O You can use the typical spread for the rating, based upon other rated countries, to
estimate a spread for the country. In July 2013, this would have yielded 1.80%.

o Many analysts add this default spread to the US risk premium to come up
with a risk premium for a country. This would yield a risk premium of 7.45
for South Africa, if we use 5.75% as the US risk premium and the default

spread based on the rating.

15



Beyond the default spread

0 While default risk spreads and equity risk premiums are
highly correlated, one would expect equity spreads to be
higher than debt spreads. In fact, if we can estimate how
risky the equity market is, relative to the government bond,
we can scale up the spread.

o Country Risk Premium for South Africa in July 2013
o Standard Deviation in JSE = 21%
o Standard Deviation in South African government Bond = 14%
o Default spread on Bond = 1.70%

o Country Risk Premium (CRP) for South Africa= 1.70% (21%/14%) =
2.55%

o Total Risk Premium for South Africa= US risk premium (in 7/13) + CRP
=5.75% + 2.55% = 8.30%

16
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Country risk derives from operations, not where

you are incorporated.. Sasol’s ERP
I

Region/Country |Revenues Weight |ERP

South Africa R 84,100.00 | 49.62%| 8.30%
Europe R 38,900.00 | 22.95%| 6.97%
North America R18,200.00 | 10.74%| 5.75%
Asia R 13,500.00 7.96%| 7.52%

Rest of Africa R 14,800.00 8.73%| 12.93%
R 169,500.00 | 100.00%| 8.06%
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Estimating Beta: The Regression Approach
-
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Determinants of Betas
1 1

Beta of Equity (Levered Beta)

(Beta of Firm (Unlevered BetaD Financial Leverage:
I Other things remaining equal, the
[ ] greater the proportion of cap ital that

fim raises from higher i
Nature of product or /()peratlng Leverage (leet-i\ Squny'?,’iﬁg wﬁl bgebt,the igher s
service offered by Costs as percent of total
company: costs):
Other things remaining equal, Other things remaining equal,
the more discretionary the the greaterthe proportion of implications
{deuct orservice, the higher the costs that are fixed, the H‘ph levered fims should have hiaherbetas
he beta. higher the beta of the tho firre with leSe debi 9
\oompany. . Equity Beta (Levered beta) =
+ Unlev Beta (1 + (1-t) (Debt/Equity Ratio))
/Implications N /Imglications N
1. Cydlical comp anies should 1. Fims with high infrastructure
have higher betas than non- needs and rigid cost structures
cyclical comp anies. should have higherbetas than
2. Luxury goods fims should firms with flexib le cost structures.
have higher betas than b asic 2. Smaller fims should have higher
oods. betas than larger fims.
. High priced goods/service 3. Young fims should have higher
firms should have higherbetas \etas than more mature fims.
than low priced goods/services
fims.
4. Growth fims should have
higher betas.
S/
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Bottom up beta for SASOL

Sasol is in two businesses, oil and chemicals, and it is an
emerging market company. I used the average unlevered
beta of emerging market oil and chemical companies.

Business | Revenues | EV/Sales | Estimated Value | Weight | Unlevered Beta | D/E ratio | Levered Beta
Oil $95.00 0.75 S§71.25 45.89% 1.06 10.94% 1.14
Chemicals [ $75.00 1.12 $84.00 54.11% 1.15 10.94% 1.23
Sasol $170.00 $155.25 100.00% 1.11 10.94% 1.19

/

Sasol’s D/E ratio
= 31,563/ 288,553
= 10.94%

Marginal tax rate
for South Africa

= 34.55%



Estimating the Cost of Debt

o If the firm has bonds outstanding, and the bonds are traded,
the yield to maturity on a long-term, straight (no special
features) bond can be used as the interest rate.

0 If the firm is rated, use the rating and a typical default spread
on bonds with that rating to estimate the cost of debt.
0 If the firm is not rated,

o and it has recently borrowed long term from a bank, use the interest
rate on the borrowing or

o estimate a synthetic rating for the company, and use the synthetic
rating to arrive at a default spread and a cost of debt

0 The cost of debt has to be estimated in the same currency as
the cost of equity and the cash flows in the valuation.
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Estimating Synthetic Ratings
-

0 The rating for a firm can be estimated using the
financial characteristics of the firm. In its simplest
form, we can use just the interest coverage ratio:

0 Interest Coverage Ratio = EBIT / Interest Expenses

o For Sasol,
O Interest coverage ratio

= Operating Income/ Interest Expense
=35722/2091=17.08
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Interest Coverage Ratios, Ratings and Default

Spreads

If interest coverage ratio is
> <to Rating is Spread is
8.50 100000 AAA 0.40%
6.5 8.499999 AA 0.70%
55 6.499999 A+ 0.85%
4.25 5.499999 A 1.00%
3 4.249999 A- 1.30%
2.5 2.999999 BBB 2.00%
2.25 2.49999 BB+ 3.00%
2 2.2499999 BB 4.00%
1.75 1.999999 B+ 5.50%
1.5 1.749999 B 6.50%
1.25 1.499999 B- 7.25%
0.8 1.249999 CCC 8.75%
0.65 0.799999 CC 9.50%
0.2 0.649999 C 10.50%
-100000 0.199999 D 12.00%
17.08 - AAA

Sasol: Market Cap>$5 billion:

Cost of debt = 5.94% + 1.70% (Country default spread) + 0.40%= 8.04%
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Current Cost of Capital for Sasol

I
o Equity

o Cost of Equity = Riskfree rate + Beta * Risk Premium
= 5.94% + 1.19 (8.06%) = 15.53 %

o Market Value of Equity = 288,553 million ZAR
o Equity/(Debt+Equity ) = 90.14%
0 Debt

O After-tax Cost of debt

=(Riskfree rate + Country Spread+ Company Spread) (1-t)
= (5.94%+1.70%+0.40%) (1-.3455) = 5.26%

o Market Value of Debt = 31,563 million ZAR
o Debt/(Debt +Equity) = 9.86%

1 Cost of Capital = 15.53%(.9014)+ 5.26%(.0986) = 14.52%
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Back to First Pri

nciples

Chapters 3 &4: Risk, Financing Mix and Hurdle Rates

The hurdle rate The return
should reflect should relfect
the riskiness of the magnitude
the investment and the timing of
and the mix of the cashflows as
debt and equity welll as all side
used to fund it. effects.

The
optimal
mix of debt
and equity
maximizes
firm value

l

The Investment Decision
Invest in assets that earn a
return greater than the
minimum acceptable hurdle

rate

The Financing Decision
Find the right kind of debt

for your firm and the right
mix of debt and equity to
fund your operations

How you
choose to
return cash to
the owners will
depend
whether they

How much
cash you
can return

depends
upon current

& potential

investment

opportunities

The Dividend Decision
If you cannot find investments
that make your minimum
acceptable rate, return the cash
to owners of your business

v

Maximize the value of the business (firm)
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Measuring Returns Right: The Basic Principles

1. Use cash flows rather than earnings. You cannot spend
earnings.

>, Use “incremental” cash flows relating to the
investment decision, i.e., cashflows that occur as a
consequence of the decision, rather than total cash

flows.

;. Use “time weighted” returns, i.e., value cash flows that
occur earlier more than cash flows that occur later.

The Return Mantra: “Time-weighted, Incremental Cash
Flow Return”
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Example: Sasol’s proposed ethane cracker/

gas plant in Louisiana
-

o Sasol is proposing investing $7.5 billion in a new ethane
cracker plant in Westlake, Louisiana. It will take three
years to get the plant operating.

0 The plant is expected to generate 1.5 million tons of
ethylene each year for 25 years. The price per ton of
ethylene currently is $1,400.

0 The EBITDA margin is expected to be 40% and the tax
rate is 34.55%.

o At the end of year 25, the plant will be shut down and
the salvage value is S 2.5 billion. It will be depreciated
straight line for 25 years.
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Average Annual Earnings and Return on

Capital from the plant
-

Revenues S2,100
EBITDA S945
DA S500
EBIT S445
Taxes I 3154
EBIT (1-t) S291
Average investment | $5,000
ROIC 5.83%
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Cost of capital for the plant

0 The cost of capital will be computed in US dollars,
since the earnings and cash flows for the plant will
be in US S.

o Cost of equity
m Risk free rate = 2.5% (US ten-year T.Bond rate)
m Beta = 1.14 (Beta for oil business)
m Equity risk premium = 5.75% (revenues will be in US)
= Cost of equity = 2.5% + 1.14 (5.75%) = 9.06%
O Cost of debt = (2.5%+ 1.7%+.4%)(1 -.3455) = 3.01%
o Cost of capital =9.06% (.9014)+ 3.01%(.0986) = 8.46%
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From annual earnings to annual cash

flows, and on to NPV
I

EBIT (1-t) $291
+ Depreciation S500
Cash flow $791
Initial investment -7500
Salvage value 2500

NPV =-7500 + $791 (PV of annuity, 25 years, 8.46%)+$2500

(PV of FV, 25 years, 8.46%) = $ 954 million "



Looking at Sasol’s existing investments

0 The return on capital for the entire company can be
computed using the most recent year’s numbers:

o Operating income most recent year = 35,722 million ZAR
O Effective tax rate =31.79%

o Invested Capital last year = Debt + Equity — Cash =
=13,088+128,314- 13,172 = 128,230 million ZAR

o ROIC = 35,722 (1-.3179)/128,230 = 18.56%

0 The cost of capital for the company is 14.52%.
O Excess return = 18.56% - 14.52% = 4.04%

O The excess returns are positive. What is the source or
sources of these excess returns?
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First Principles
-1

Chapters 7 & 8: Financing Choices and an Optimal Mix

The hurdle rate The return
should reflect should relfect
the riskiness of the magnitude The
the investment and the timing of optimal
and the mix of the cashflows as mix of debt
debt and equity welll as all side and equity
used to fund it. effects. maximizes

firm value

\

l

The Investment Decision
Invest in assets that earn a
return greater than the
minimum acceptable hurdle

rate

The Financing Decision
Find the right kind of debt

for your firm and the right
mix of debt and equity to
fund your operations

How much How you
cash you choose to
can return return cash to
depends the owners will

upon current depend

& potential whether they

investment

opportunities

The Dividend Decision
If you cannot find investments
that make your minimum
acceptable rate, return the cash
to owners of your business

v

Maximize the value of the business (firm)
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Debt: Summarizing the trade off
-1

Advantages of Debt Disadvantages of debt
1. Tax Benefit: Interest expenses on debt are tax deductible 1. Expected Bankruptcy Cost: The expected cost of going
but cash flows to equity are generally not. bankrupt is a product of the probability of going bankrupt and
Implication: The higher the marginal tax rate, the greater the the cost of going bankrupt. The latter includes both direct and
benefits of debt. indirect costs. The probability of going bankrupt will be

higher in businesses with more volatile earnings and the cost
of bankruptcy will also vary across businesses.

Implication:

1. Firms with more stable earnings should borrow more, for any
given level of earnings.

2. Firms with lower bankruptcy costs should borrow more, for
any given level of earnings.

2. Added Discipline: Borrowing money may force managers | 2. Agency Costs: Actions that benefit equity investors may

to think about the consequences of the investment decisions a | hurt lenders. The greater the potential for this conflict of

little more carefully and reduce bad investments. interest, the greater the cost borne by the borrower (as higher
Implication: As the separation between managers and interest rates or more covenants).
stockholders increases, the benefits to using debt will go up. Implication: Firms where lenders can monitor,/ control how

their money is being used should be able to borrow more than
firms where this is difficult to do.
3. Loss of flexibility: Using up available debt capacity today
will mean that you cannot draw on it in the future. This loss of
flexibility can be disastrous if funds are needed and access to
capital is shut off.
Implication:
1. Firms that can forecast future funding needs better
should be able to borrow more.
2. Firms with better access to capital markets should be
more willing to borrow more today.
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Sasol: Optimal Capital Structure
-

The current debt ratio for Sasol is approximately 10% and it
has a cost of capital of 14.52%.

Debt Ratio Beta Cost of Equity Bond Rating | Interest rate on debt Tax Rate Cost of Debt (after-tax) WACC Firm Value (G)
0% 1.11 14.91% Aaa/AAA 8.04% 34.55% 5.26% 14.91% $306,160
10% 1.19 15.56% Aaa/AAA 8.04% 34.55% 5.26% 14.53% $319,617
20% 1.30 16.38% Aa2/AA 8.34% 34.55% 5.46% 14.20% $332,722
30% 143 17.43% A3/A- 8.94% 34.55% 5.85% 13.96% $342,698
40% 1.60 18.83% Baa2/BBB 9.64% 34.55% 6.31% 13.82% $348.,596
50% 1.84 20.78% B2/B 14.14% 34.55% 9.25% 15.02% $302,541
60% 221 23.72% C2/C 16.39% 34.55% 10.73% 15.92% $275,118
70% 2.83 28.79% C2/C 16.39% 33.73% 10.86% 16.24% $266,704
80% 4.25 40.21% C2/C 16.39% 29.51% 11.55% 17.28% $242,137
90% 8.62 75.41% Ca2/CC 17.14% 25.08% 12.84% 19.10% $208,778

The optimal debt ratio for Sasol is approximately 40%,
where 1t’s cost of capital 1s 13.82%. Specifically, this will
require that Sasol quadruple its debt and pay a special

dividend. 15



Sasol: Applying the Framework
-

Is the actual debt ratio greater than or lesser than the optimal debt ratio?

Actual > Optim
Overlevered

| Is the firm under bankruptcy threht?

Yes

[Nd

Reduce Debt quickly

1. Equity for Debt swap
2. Sell Assets; use cash
to pay off debt

3. Renegotiate with lenders

Yes
Take good projects with

earnings.

Actual < Optimal
Actual (10%) < Optimal (40%)

[ Is the firm a takeover target? |

Yes

No. Lar!ge mkt cap & lack of
activist| investors

) Increase leverage
Does th,e? firm have good quickly Does the firm have good
projects? , 1. Debt/Equity swaps|| projects?
ROE > Cost of Equity 2. Borrow money& ROE > Cost of Equity
ROC > Cost of Capital buy shares. ROC > Cost of Capital
I | :
' |
No Yes. ROC > Cost of capital [ No]

1. Pay off debt with retained

new equity or with retained| earnings.

2. Reduce or eliminate dividends
3. Issue new equity and pay off

debt.

Take good projects
With debt.

Do your stockholders like
dividends?

Yes

Pay Dividends No

Buy back stock
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Designing Debt: The Fundamental
Principle

0 The objective in designing debt is to make the cash
flows on debt match up as closely as possible with
the cash flows that the firm makes on its assets.

0 By doing so, we reduce our risk of default, increase
debt capacity and increase firm value.

Unmatched Debt Matched Debt

Firm Value




Customized Financing

0 The perfect financing instrument will
o Have all of the tax advantages of debt
o While preserving the flexibility offered by equity

Start with the —
Cash Flows Growth Patterns Sy}f 11ca1f1;y &
on Assets/ Duration Currency [Effect of Inflation ther Effects
Projects [Uncertainty about Future
y y y y y
Fixed vs. Floating Rate Straight versus Special Features Commodity Bonds
Duration/ Currenc * More floating rate Convertible on Debt Catastrophe Notes
Define Debt Maturit Mix y - if CF move with - Convertible if - Options to make
Characteristics y inflation cash flows low cash flows on debt
- with greater uncertainty now but high match cash flows
on future exp. growth on assets
|Design debt to have cash flows that match up to cash flows on the assets financec |
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Sasol’s perfect debt

o Duration: Projects are typically long term, with long
gestation periods where cash flows are negative.

0 Currency: The currency will depend upon the part where
the project is located. Since Sasol operates across the
globe, the overall debt in the firm should reflect its
global mix.

0 Pricing power: Sasol operates in businesses where the
products are commodities. It has little pricing power.

0 Growth potential: Sasol is a mature company.

Bottom line: The right debt for Sasol is long term, fixed
rate, multi-currency, straight debt.
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First Principles

Chapter 10: Dividend Policy

The hurdle rate The return
should reflect should relfect The riabt How much How you
the riskiness of the magnitude The kin d%f cash you choose to
the investment and the timing of optimal debi can return [GRNN cggh to
and the mix of the cashflows as mix of debt a depends the owners will
debt and equity welll as all side and equity upon current depend
used to fund it. effects. maximizes & potential whether they
firm value investment ~ prefer
opportunities dividends or
’J
|
The Investment Decision The Financing Decision The Dividend Decision
Invest in assets that earn a Find the right kind of debt If you cannot find investments
return greater than the for your firm and the right that make your minimum
minimum acceptable hurdle mix of debt and equity 1o acceptable rate, return the cash
rate fund your operations to owners of your business

.

Maximize the value of the business (firm)
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Assessing Dividend Policy

Step 1: How much could the company have paid out
during the period under question?

Step 2: How much did the the company actually pay
out during the period in question?

Step 3: How much do | trust the management of this
company with excess cash?

o How well did they make investments during the period in
guestion?

o How well has my stock performed during the period in
guestion?
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How much has the company returned to

stockholders?
A

0 As firms increasing use stock buybacks, we have to
measure cash returned to stockholders as not only
dividends but also buybacks.

0 For instance, for Sasol, we obtain the following

Year Dividends Buybacks Cash returned
2006 R 3,660.00 R 0.00 R 3,660.00
2007 R 4,613.00 R 3,669.00 R 8,282.00
2008 R 5,766.00 R 7,300.00 R 13,066.00
2009 R 7,776.00 R1,114.00 R 8,890.00
2010 R 5,678.00 R 0.00 R 5,678.00
2011 R 7,033.00 R 0.00 R 7,033.00
2012 R11,171.00 R 0.00 R11,171.00
2006-2102 R 45,697.00 R 12,083.00 R 57,780.00




A Measure of How Much a Company Could

have Afforded to Pay out: FCFE
- -

0 The Free Cashflow to Equity (FCFE) is a measure of how much
cash is left in the business after non-equity claimholders
(debt and preferred stock) have been paid, and after any
reinvestment needed to sustain the firm’ s assets and future
growth.

Net Income
+ Depreciation & Amortization
= Cash flows from Operations to Equity Investors
- Preferred Dividends
- Capital Expenditures
- Working Capital Needs
- Principal Repayments
+ Proceeds from New Debt Issues
= Free Cash flow to Equity
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Sasol’ s FCFE

Year Net Income |Depreciation Cap Ex Chg in WC | Chgin Debt FCFE
2006 R 10,406.00 | R4,268.00 | R13,269.00 | R3,749.00 | -R1,362.00 | -R 3,706.00
2007 R17,636.00 | R4,015.00 | R12,023.00 | R1,259.00 | R1,341.00 | R9,710.00
2008 R22,417.00 | R5,212.00 | R10,878.00 | R7,404.00 | -R1,278.00 | R 8,069.00
2009 R13,648.00 | R6,245.00 | R15,546.00 | R10,993.00| R 210.00 | -R6,436.00
2010 R15,941.00 | R6,712.00 | R16,057.00 | R3,424.00 | -R2,685.00 | R 487.00
2011 R19,794.00 | R7,400.00 | R20,665.00 | R2,379.00 | R531.00 | R4,681.00
2012 R21,846.00 R 10,703.00 R28,921.00 R2,271.00 R 13,558.00|R 14,915.00
2006-2102| R 121,688.00 | R 44,555.00 | R 117,359.00 | R 31,479.00 | R 10,315.00 | R 27,720.00
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A Practical Framework for Analyzing

Dividend Policy
-1

How much did the firm pay out? How much could it have afforded to pay out?
What it could have paid out What it actually paid out
Net Income Dividends
- (Cap Ex - Depr’ n) (1-DR) + Equity Repurchase
- Chg Working Capital (1-DR)
= FCFE
I
! |
Firm pays out too little Fi tt h
FCFE > Dividends FCPE Dividends ¢

Do you trust managers in the company with What investment opportunities does the

your cash? firm have?
Look at past project choice: Look at past project choice:
Compare ROE to Cost of Equity Compare ROE to Cost of Equity
ROC to WACC ROC to WACC
1
| | | | |
Firm has history of Firm has history Firm has good Firm has poof
good project choice of poor project projects projects
and good projects in choice
the future
I
Give managers th /Force managers t irm shoul Firm should dea
flexibility to keep justify holding cash cut dividends with its investmen
cash and set or return cash to and reinvest problem first and

dividends Qstockholders more then cut dividend

45



Sasol: Making your assessment

0 Sasol has been returning far more cash than it has available
in FCFE over time.

Year Cash returned FCFE
2006 R 3,660.00 -R 3,706.00
2007 R 8,282.00 R9,710.00
2008 R 13,066.00 R 8,069.00
2009 R 8,890.00 -R 6,436.00
2010 R 5,678.00 R 487.00
2011 R 7,033.00 R 4,681.00
2012 R11,171.00 R 14,915.00
2006-2102 R 57,780.00 R 27,720.00

o Do you agree with this policy?
o If yes, how can you sustain it?
o If not, how can you change it?
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First Principles

Chapter 12: Value and Corporate Decisions

The hurdle rate The return
should reflect should relfect How much How you
the riskiness of the magnitude The cash you choose to
the investment and the timing of optimal can return return cash to
and the mix of the cashflows as mix of debt depends the owners will
debt and equity welll as all side and equity upon current depend
used to fund it. effects. maximizes & potential whether they
firm value investment ~ prefer
opportunities dividends or
|_ buybacks

l

The Investment Decision

l

-

~

\ The Financing Decision The Dividend Decision

Invest in assets that earn a Find the right kind of debt If you cannot find investments

minimum acceptable hurdle mix of debt and equity to acceptable rate, return the cash
rate

fund your operations

—

to owners of your business

'

| Maximize the value of the business (firm) |
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The Ingredients that determine value.
-

Cashflows can be

a. After debt payments to equity Growth rate can be
- Dividends a. In Equity Earnings
- Free Cashflow to Equity - Net Income Firm is in stable growth
b. Before debt payments to firm - Earnings per share which it can sustain
- Free Cashflolw to Firm b. In Operating Earnings forever
Expected Cashflows during extraordinary growth phase Terminal Value
e
Discount the cashflows and terminal value to the present
4 Present value is \ *
a. Value of equity, if cashflows to
equity discounted at cost of Discount Rate can be
equity , a. Cost of equity, if cashflows are equity cashflows
b. Value of operating assets of b. Cost of capital, if cashflows are to the firm
the firm, if cshflows to firm
discounted at the cost of capital
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Sasol: My valuation (July 2013)

Bond rating: AAA (Synthetic)
(5.94%+1.7%+0.4%)(1-.3455) = 5.26%

E=90.1%D =9.9%

stock was trading at

445/share.

Riskfree Rate:
Riskfree rate = 5.94%

Beta
1.19

|

Unlevered Beta for
Businesses: 1.11

D/E=10.94%

ERP
8.06%
|
Region/Country | Revenue Weight| ERP
South Africa 49.62% 8.30%
Europe 22.95% 6.97%
North America 10.74% 5.75%
Asia 7.96% 7.52%
Rest of Africa 8.73% 12.93%
Company 100.00% 8.06%

Company |Industry (US) |Industry (Global)
Revenues $171,583
Operating income | $ 35,722
Revenue growth= | 1.26% 24.94% 14.00% Revente Sales Staloole Growth
Operating margin | 20.82% 11.99% 10.78% h of 7° Pre-tax ales 1o g =5.94%; Beta =1.00;
: growth of 7% a ti capital ratio Cost of capital = 9%
Sales to capital = 1.19 2.03 1.69 for5 operating
ROIC = 18.56% 14.65% esn| | o Of 0 Years: margin stays at stays at 1.19 ROC= 9%;
= 2 R —=1 | tapering down 20.82% over for next 10 Reinvestment Rate=5.94%/9% = 66%
t0 5.94% in year ’ SiEE years
10 ’ Terminal Valueqg= 16,079/(.09-.0594) = 525,468
1 2 3 4 5 6 7 8 9 10
Revenue growth rate 7.00% 7.00% 7.00% 7.00% 7.00% 6.19% 6.58% 636% 6.15% 5.94%
Revenues $183,593.81 | $196,44538 | $210,196.55 | $224,910.31 | $240,654.03 | $256,989.63 | $273,889.27 | $291,319.58 | $309,241.56 | $327,610.51
EBIT (Operating) margin | 20.82% 20.82% 20.82% 20.82% 20.82% 20.82% 20.82% 20.82% 20.82% 20.82% Term yr
EBIT (Operating income) | § 38222.54 | $ 40.898.12 | $ 43,760.99 | $ 46,824.26 | $ 50,101.95 | $ 53,502.87 [ $ 57021.22 | § 60.650.05 | $ 64.381.24 | $ 68,205.49 EBIT (1-t) 47,292
Tax rate 31.19% 31.79% 31.79% 31.79% 31.79% 32.34% 32.89% 33.45% 34.00% 34.55% - Reinv 31,213
Operating assets  264.714 | [EBIT( § 2607159 ['$ 2789661 [ § 2984937 | § 3193882 | § 34.174.54 [ § 36.198.97 [ § 3826466 | § 4036504 | § 4249291 [ § 4464049 | | FoEE 16.079
+ Cash 23 048 | [Reinvestment $ 10,078.39 | § 10,783.88 | $ 11,538.75 [ § 12,346.46 | $ 1321071 | $ 13,707.36 [ § 14,180.65 | $ 1462595 | $ 1503851 | § 1541357 ’
’ FCFF $ 15993.20 | § 17,1273 | $ 18310.62 [ § 19,592.36 | $ 2096383 | $ 22491.61 | § 2408401 | $ 25739.09 | $ 2745440 | § 2922693
- Debt 31,503
- Minority Interests 3,294 |« I I I I I I I I I
Value of equity 253,165
/ No of shares 648.87 Cost of capital = 15.53% (.901) + 5.26% (.099) = 14.52% | Cost of capital decreases to
Value/share 390.16 + 9% from years 6-10
Cost of Equity |
. n July 2013, the
15.53% Cost of Debt Weights y



Ways of changing value...

Are you investing optimally for

(')
future growth? \ Is there scope for more
Growth from new investments Efficiency Growth Zg;lfiﬁmaggélégnon of
HQW. Well do you manage your Growth created by making new Growth generated by g ’
existing investments/assets? investments; function of amount and using existing assets /

\ quality of investments better
[ |

Cashflows from existing assets

Cashflows before debt payments, . . .
but after taxes and reinvestment to Expected Growth during high growth period Stable growth firm,
maintain exising assets with no or very

P> |imited excess returns

Length of the high growth period
Ar building on Vour Since value creating growth requires excess returns
¢ you bu gony this is a function of

iti ? . ..
competitive advantages’ - Magnitude of competitive advantages
- Sustainability of competitive advantages

. . Cost of capital to apply to discounting cashflows
Are you using the right Determined by
amount and kind of - Operating risk of the company
debt for your firm? - Default risk of the company
- Mix of debt and equity used in financing
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First Principles

Corporate Finance: The Big Picture

The hurdle rate The return
should reflect should relfect How much How you
the riskiness of the magnitude The cash you choose to
the investment and the timing of optimal can return return cash 1o
and the mix of the cashflows as mix of debt depends the owners will
debt and equity welll as all side and equity upon current depend
used to fund it. effects. maximizes & potential whether they
firm value investment
H opportunities
The Investment Decision The Financing Decision The Dividend Decision
Invest in assets that earn a Find the right kind of debt If you cannot find investments
return greater than the for your firm and the right that make your minimum
minimum acceptable hurdle mix of debt and equity to acceptable rate, return the cash

,

Maximize the value of the business (firm)
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